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gert g IR A fog T gt &
CIB ey 7 ¢ i fafmE Fre g
=1 AT

(1) uep Tt < <y ufRafa & 2 |
(2) B EUE % IR AR |

(3) [TMBH AT AR |

(4) 7 B % sa geaisiier sted
qg|

-1 =t g1 & A HUE aen A feu
1 11

A. yFea tehies 1. sl sefedn
ERIE]

B. Uedditea 2. wiw fasedt

IR fererRnsm
C. T3 3= 3. g
. gt
D. IgfrseEs 4. wfeg meH
E. fafma it 5. ofes wiaene
F. =an 6. Siaem

%

A B C D E F

1M 3 4 1 6 5 2

@ 3 4 2 5 6 1

G 4 3 2 6 5 1

4 2 5 6 3 1 4
farefier S % Rreraneis a9y &

(1) TS FEA 8 |
) e fapeft FEd d |
(3) A-FeefifrFad g |
(4) TS HEd 2 |

In Drosophila C I B genotype used by
Muller, ‘C’ stands for crossover
suppressor due to

(1) presence of a suppressor gene

(2) inversion of / B region

(3) adeletion between / and B loci

(4) transposable element between '}
and B loci

Match List I with List II and select the
correct answer by using the codes given
below the lists :

List I List II
A. ShultzRed- 1. Pseudo

field effect dominance
B. Robertsonian 2. Sister allele

translocation segregation

C. Double 3. Compensation of
reduction recombination

D. Bridge 4. Centric fusion
elimination

E. Crossover 5. Paracentric
suppressor inversion

F. Deficiency 6. Inversion
Codes :

A B CDEF
M3 4 1 6 5 2
@ 3 4 2 5 6 1
G) 4 3 2 6 5 1
@ 2 5 6 3 1 4

Evolutionary relic of a functional gene
is called as
(1) Pseudogene
(2) Pseudo allele
(3) Non-allelic gene
(4) Isogeny
02 (Botany)
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(1) gfeiA I FH A E Ghar g |
(2) AT 309F H 0 B Thar 2 |
(3) T I HTA H & FHAT 2 |

(4) U qAT STEATAT Sl & 3w
& H B FhaT B |

Teh TId A9 o AT bR 81T T,
7§, 39 Fol R T h TEAT H Wi
AT &R T < ST § 9T ¢ 9T
HH 6!

(1) feaf&n (twisting) G@ Had & |
2) Tg (writhe) F&d 2 |
(3) AlSTeh HEAT HEd & |
(4) =S A FEd 7 |

ER i IR B T NS | B BN RIS AR R i
# & foruen e Iw § i 8 2

(1) ATP (2) GTP

(3) TTP (4) CTP

I sTaTed # 3 ¥ frw dvelfva g
TS 1 TEIISE H STTATCH 8 Bl & 7
(1) sgU (2) =g G
(3) s;gC (4) g A

Sa gz fomm & 5 & forw sl av
&1 € (D) &R g Ffde fepm sman 2 2
(1) WA (Alanine)

(2) TEATféeh 3T (Aspartic acid)

(3) TEIURI (Asparagine)

(4) IS ! A

02 (Botany)

Haploids may be used to produce
(1) 1inversions

(2) translocations

(3) aneuploids

(4) both translocations and aneuploids

In a nicked circular DNA of known size,
the value obtained by dividing its total
number of base pairs by the number of
base pairs per turn is known as

(1) twisting number

(2) writhe

(3) linking number

(4) pitch

Out of these 4 deoxyribonucleotide
triphosphates, synthesis of which one is
different from the rest ?

(1) ATP (2) GTP

(3) TTP 4) CTP

During in vitro translation which one of
these synthetic ribose messenger does
not translate into polypeptide ?

(1) PolyU (2) Poly G

(3) PolyC (4) Poly A

In bioinformatics, which one of these
amino acids is denoted by letter D ?

(1) Alanine

(2) Aspartic acid
(3) Asparagine
(4) Any amino acid
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11.

12.

e T @ Wit St & w9 H Al
Hfusaa=sa

(1) 100 — 150 ST <Y Terwersha &l 2 |
(2) 250 — 350 A= =Y TR B € |
(3) 450 — 550 A1 =Y STEvHaAT B & |
(4) 650 — 750 =1 Y TR Bl & |

8 % s =l § ‘o’ IR ST "

e <1 TR

(1) 100 sfeera giar & |
) 75 SfaTdaaar g |
(3) 50w g2 |
(4) 25 Wfaw@ BETR |

Ol % Ty T T % AR W
YR T HFI TS B ?

(1) St > > wat > u > Qfersiead
2) & > Het > St > g > Qi
(3) >3 > Haw > g > Qereied
(4) weRl > TE > St > Qe > u™

el (Rubisco) TiTgH |

(1) &2 qUTSIR GHI TgURIES Biacash
F.UAU g HISA B & |

() Faa wY TURRES BRaTdS
U g RIS BT ® |

(3) $ad Bl TEIRES BRATEH
F.0A.T g S B2 |

(4) T2 AT BR CHI TGURITS b
A gUHIATAE |

10.

11.

12.

To exist as independent self-replicating
organism, the minimum number of
genes required are

(1) 100-150

(2) 250-350

(3) 450-550

(4) 650-750

In a wheat monosomic, the average
transmission of female gamete with ‘n’
chromosome is

(1) 100%

(2) 75%

(3) 50%

(4) 25%

Based on decreasing genomic size of

crops which one of these sequence is

correct ?

(1) Barley > Wheat > Maize > Rice >
Arabidopsis

(2) Wheat > Maize > Barley > Rice >
Arabidopsis

(3) Wheat > Barley > Maize > Rice >
Arabidopsis

(4) Maize > Wheat > Barley >
Arabidopsis > Rice

In Rubisco enzyme

(1) Both, the Ilarge
polypeptides are
cpDNA.

(2) Only large polypeptide is encoded
by cpDNA.

(3) Only small polypeptide is encoded
by cpDNA.

and small
encoded by

(4) Both, the large and small
polypeptides are encoded by
nuclear DNA.

02 (Botany)



13.  foatafiaa € s fazo gafs .

14.

15.

16.

a. Y9 TRt 1

b. Tg-smfira

C: anT%?ﬁ'

d.  TAITSH SIS Y

T 8 S ITa GABET 1 U gy | 2
(1) aTdb (2) buad

(3) bwc (4) aWdc

Tl Y g s R U
(1) <hTReh Teht fhET 2 |
() Hgpe TR |

(3) TS fere 2 |

(4) R FAH fFe 2 |

GIAHITHT & HIgIhM e ‘C’ &

T IJugHTEA A

(1) a+ft ugeprsal gl SLE.T.
BRI SHifsd Bl & |

2) |t TS FEw SLEC U
SHifea Bl 2 |

(3) Had 3 IUSHIAT  GABOH
E.U.N. g hifsd gl & |

(4) a4 IUSHEAT AR
T g HIEa a2 |

wfew=h! (Rubisco) i &l o & EX
SIS 1 TH

(1) 70 Sierera gram 2 |
(2) 50ufawaBaT® |
(3) 30 wfawd g ? |
(4) 25 wfaea g g |
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14.

15.

16.

In following mapping populations
given as

a. Backcross 1

b. Doubled haploids

c. Fzindividuals

d. Recombinant inbred lines

Which one is the correct set of
immortal populations ?

(1) aandb (2) bandd

(3) bandc (4) aandc

Mustard variety “Pusa Jai Kisan’ is a
(1) Somatic hybrid

(2) Composite variety

(3) Transgenic variety

(4) Somaclonal variant

Of the 7 subunits of mitochondrial
Cytochrome Oxidase C

(1) all subunits are encoded by mt
DNA.

(2) all subunits are encoded by nuclear
DNA.

(3) only 3 subunits are encoded by mt
DNA.

(4) only 4 subunits are encoded by mt
DNA.

Of the total protein in green leaves,
Rubisco protein is about

(1) 70%
2) 50%
(3) 30%
@) 25%
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18.

19.

20.

21.

€. u,  yreptereh 0T PGS &R
e wrafie & w1 ve foran it

(1) Rfter sroan @A & gm @ 4
. 3TE%E B ST |

(2) =i SHifden § waite e A
T R |

(3) Wi €. i whiela # swem
HAR |

(4) wrgei Ty e e | diafdd
HEEE

A% 11w= (TF 11 H) e wida

(1) =ffeEierge Iede HOHd | Fa i 2 |
(2) &R I HUNA W FEA 2 |

(3) &R Hhel AT & T 2 |

(4) Tt e mma A gata 8 |

T G 3 & gEl i e ) g & forg
STt <h1 TS oft 2

(1) wwifa (2) grEdl

(3) <maT 101 (4) Qv

ST (Bragg)

(1) it o wep quTenfia fore 8 |
(2) e i e guenfia frer g |
(3) Hwel i T guEta e R |
(4) S Y we g e g |

farfeptar <Y 3678 T (Gy)

(1) 93 301G (ergs) % TR BT 2 |
(2) 100 31T (ergs) TR BT 2 |
(3) 100 1Y (rads) & ST Bl 2 |
(4) 93 1Y (rads) S FUR T2 |

17.

18.

19.

20.

21,

In DNA, natural selection favoured the
use of thymine in place of uracil likely
because

(1)

Uracil frequently fails to pair with

adenine.

(2) Thymine is available in most
abundance in the cell.

(3) Uracil interferes with DNA
replication.

(4) Cytosine  occasionally  gets

converted into uracil

Protein designated as TF II H is related to
(1) Nucleotide excision repair

(2) Base excision repair

(3) Base Mismatch repair

(4) Double strand breakage repair

Which one of these mustard varieties

was released for entire country ?
(1) Kranti
(3) Laha 101

(2) Durgamani
(4) Vaibhav

“Bragg” is an introduced variety of
(1) Chilli

(2) Soyabean

(3) Groundnut

(4) Brinjal

Radiation Unit Grey (Gy) equals
(1) 93 ergs
(2) 100 ergs
(3) 100 rads
(4) 93 rads
02 (Botany)



22.

23.

24,

23.

IR 6t AT, aH yeerar ges
TG H 2 90 fhe @ F, i | Qg
37T A1 5%k F| © Sl hUd &

(1) ShITRTe T UlereH gra feam |
(2) e ud few gra fea e |
(3) T we e g fean ma o |
(4) B0 v it gro fea e |

Frfefaa snfoas foget
a. 3J.UH.UAH. (RFLP)
b. TE.TA.H. (SNP)
c. UTU%.UaAHl. (AFLP)
d. JIR.THEl. (RAPD)
T & HTATHE &

(1) a,b,c,d
(3) a,d,b,c

2) a,c,d,b
(4) a,d,c,b

NG YT 6§ Hewh H fRHe
Tty o Rt gar g 2

(1) Fmfia

(2) wferan

(3) Irmefier x werferar

(4) STy x weTferaT

T O form fafer o ssfr wveon =1
hitreh ®9 & o oA Sman & 2

(1) TATSHTH T

(2) =g

(3) STdehH U

(4) TG TS T T 0

02 (Botany)
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24,

25.

The experimental design that involves
crossing selected F> individuals to two
inbred parents and their F1 to work out
epistatic component was given by

(1) Comstock and Robinson

(2) Mather and Jinks

(3) Kearsey and Jinks

(4) Hayman and Griffing

Given the following molecular
markers :

a. RFLP

b. SNP

c. AFLP

d. RAPD

their correct chronological sequence is
(1) a,b,c,d 2) &,¢:db

(3) a.d.b,c (4) ad,c,b

Which one of these components of
genetic variance is fixable in the
population ?

(1) Additive

(2) Dominance

(3) Additive x dominance

(4) Dominance x dominance

In which of these methods the

individual traits are successively

improved ?

(1) stabilizing selection
(2) selection indices
(3) tandem selection
(4) selection with independent culling
levels
O



26.

27.

28.

29.

geferar ulegn § Afe ww HAEA
Froepwfa aiehesT TR & I 8 a
KL

(1) 2139 (Type-4) FRFEAE |

(2) <Y (Type-3) AL FEA 2 |

(3) <19 (Type-2) I FEd € |

(4) <9 (Type-1) A HEAE |

gfe 375 SHawedl @ @i wfadid &
Ui hET B a9 g feSE
(design)%

(1) Yot argfees feems

) aefss ave feam

(3) fiafia fesmsa

(4) a9 Wue feams

HeheTTos ®9 ¥ shH X TieTs Teams
(Design)

(1) NCD-1@ Hafera g |
(2) NCD-II & gafea @ |
(3) NCD-III & H&f¥ra 2 |
(4) TTCEHTEfaR |

e AG = ir o/t I Ffd I TR
rERes s % w9 § fedrfia e
ST & ST&T AG = aor <hl SR, i ==X
1 ot r = a1 1 IRYEAT, o, = A&
TEd e faEeE, t = SO 95 hl

It B, a8 AG % ITIth Teh! H B
T TTeAd 9iid g ?

1 i ) r

(3) o, @ t

26.

27.

28.

29,

While conducting test of significance,
if a false null hypothesis is accepted,
then it amounts to
(1) Type 4 error
(2) Type 3 error
(3) Type 2 error
(4) Type 1 error

If 375 genotypes are to be evaluated in
the field without replications, then the
appropriate design is

(1) Completely randomized design
(2) Randomized block design

(3) Augmented design

(4) Compact family block design

Conceptually, Line x Tester design is

related to
(1) NCDI1
(2) NCDII
(3) NCDIII
4 TTIC

If expected genetic gain per year is
defined as AG = ir oa/t, where AG =
response to selection, i = intensity of
selection, r = selection accuracy, Ga =
phenotypic standard deviation, t =
breeding cycle time.

Then which of the above mentioned

components of AG is incorrectly
described ?

(1) i
(3) oa

@) r
4) t
02 (Botany)



30.

31.

32.

yutee agf=se feame & an | @ w8t

ENE

(1) 3HSI FEFT a1 ghhT faweiw
FEEE |

@) fatm s B wfesfen &
STHHT GE&AT AT S TRl 2 |

(3) 9% SRl i foeh wipfa <
T SAfehe fagetyor 1 wfes A&l
L |

(4) I% 9&d 9E&A1 H IuRI < fo7e 3ugw
21

T o WS Wevil o forg, JTTuTferh

GETRId S0 HEwYl @ Fiih

(1) g # wrTee AEvll % GErTd
FEIA I9E T8 A7 |

(2) HEATCHS eV Wi g (i
FAe |

(3) WIS wEv PRt w
sfreis wgelA ImE S el
Irasfier anfeEl # wfed 8 I 4 |

4) FEeidl 1 sfrefe aSm@ERT %
TS H I 6 @ |

mfees it gy s (Diallel) fergetson

o foreft @eor % fere srfamnfaar o=

ﬁaﬁh_@?ﬁ%ﬁWr—Vrﬂmmi’@T

(1) TG BRI 2 |

(2) weiferg 3 S0 & ToRd! 8 91 Wr
1% i HEAT 8 |

(3) weiferg % FU Y T B, Wr 314
= Hredt | T Wae a6 et
w2 |

(4) weifeg & = & 7ol 8 @1 Vr
318 B w8 |

02 (Botany)
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31

32.

What is not true about completely

randomized design ?

(1) It is simplest in adoption and
analysis.

(2) Unequal number of replications
for different treatments can be
adopted.

(3) Missing data for any replication of
some treatments do not complicate
the analysis.

(4) It is suitable for large number of
treatments.

Molecular marker assisted selection for

quantitative  characters is  more
important now because
(1) Study of inheritance of quantitative

traits was not possible earlier.

(2) Quantitative  characters  are
governed by polygenes.

(3) Majority of polygenes controlling
quantitative ~ characters  have

already assembled into superior
populations under cultivation.

(4) Expression of polygenes is not free
from influence of environment.

In graphical method of diallel analysis
for any character overdominance is
indicated when the Wr — Vr regression
line

(1) passes through origin

(2) passes above origin and cuts Wr
axis

(3) passes above origin, cuts Wr axis
and touches parabola limit

(4) passes below origin and cuts Vr
axis



33.

34.

35.

36.

wer fergeraur sl HehedT HEd:

(1) o wa o g et <61 i oft |
(2) Trer gr ferenfda 6t 8 ot |

(3) e gr ferspfaa i g ot |

(4) FeTeTTeE g ferenfira < T ot |

o1 # gF s 3uS FeIe % YR W
frefafea i e ET FA ag 8 2

(1) arsfsre > Tt > TG 991 5hH
(2) HeRL > TATEieE > g 99 A
(3) @ 99 A > SIS > Tt
(4) G 9 THH > TRt > A1Ef5IS

HfYers frett S R d e el a8 g ?
(1) 3TET T S FAH A 2 |

(2) 4 — 10 S (IFA:JTd) st &
gHd ® |

(3) TTHT TS ST <hT I Bl B |

(4) Torwdl &1 T ST AT € |

e @ (SC), gt (DC), PrEsht
(TWC) den dfeere fvedi (syn)
dgifaes affaa fFreared % 3NUR 9 ST
TE 0 &

(1) SC>TWC>DC>Syn
(2) DC>TWC>SC>Syn
(3) TWC>DC>SC>Syn
(4) SC>TWC>S8Syn>DC

10

33.

34.

3S.

36.

The concept of path analysis was

originally developed by
(1) Dewey & Lu

(2) Fisher

(3) Wright

(4) Mahalanobis

On the basis of grain yield performance
in sorghum, which of the following

sequence is correct 7

(1) Vybrid > Hybrid > Pureline
(2) Hybrid > Vybrid > Pureline
(3) Pureline > Vybrid > Hybrid
(4) Pureline > Hybrid > Vybrid

What is not true about synthetic
varieties ?
(1) Base population consists of inbred
lines.
(2) 4 — 10 parents (inbreds) may be

involved.
3
4)

General combining ability is tested.

Varietal maintenance is difficult.

On the basis of theoretical mean
performance of single cross (SC),
double cross (DC), three way cross
(TWC) and synthetic (syn) variety, the
correct sequence is

(1) SC>TWC>DC>Syn

(2) DC>TWC>SC>Syn

(3) TWC>DC>SC> Syn

(4) SC>TWC> Syn>DC

02 (Botany)
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38.

39.

ACITEY Yo hl wifq fosmeq @
JyTied Bl 8

(1) 9Teq w9l & Jremfiy 919t 3 SR

(2) TTEY WFTH T TR &Ffcgfd o Rl

(3) wgsrefern ud e yuf %
BRI

(4) AEION HT IE-3FET T W

- 3o fav=iasi O Tohe 81
=& HI

Tt e 3 SUetsy 3Ta:SSId W |
YR o foIC sigen 7 wge 61 S areft
s fafer

(1) amae 9gfa? |
(2) St FeH ffer g |
(3) FHH AW R |

(4) ScafEda oA 2 |

frafafea o @ 3= € 9aron e 30
=t gTirar uftereuH o fofe Tea @ 2

(1) et 3T = foru ol A s
AT ATHEES Bid & |

(2) wfher et & Sfa ware gofaan
Frrefiet gehf H B 2 |

(3) foeel § woR geeEar Bt R |

(4) & S 3N I SHOMH @1 § 719l
ST HHAT 2 |

02 (Botany)
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37

38.

39,

The progress in ideotype breeding is

adversely affected by

¢y

Asymmetrical size among plant

parts.
)
3)

Compensation among plant parts.

Pleiotropy and genetic

background.
“

Traits arising at different times and

from different meristems.

Breeding method not commonly used

for improvement of inbred lines

available for hybrid development
(1) Pedigree method

(2) Back cross method

(3) Gametic selection

(4) Mutation breeding

Which of these assumptions of
dominance hypothesis for heterosis 1s
incorrect ?

(1) The genes responsible for
heterosis are dominant and
beneficial.

(2) The gene effects of the loci

involved are completely additive
in nature.

There is linkage between the loci.

Increased vigour can be measured
in terms of selective advantage.

(©))
“



40.

41.

42.

43.

SIS BTF % ged H 30 &
AHATE R ?

(1) TRt — ORI — ST —
(2) ST — TosteRt — Tt —
(3) Testept — et — et — |1

e

(4) ST — AT — TSR — q1

T ¥ HIA TSR $ T Tl Y Hafed
29

(1) RET (Cina) Hif¥eR 5

(2) WIgE (Milo) ShIfSTeRT 5

(3) fewet (Tifton) Sif¥rrt 54

(4) AT (Tms) HIRTH 54

ferfrerar 3 e sjger <Y SrfverrRon Hi
(1) Qe+ feaman |

(2) TERTHEA A e o |

(3) vt feEman |

(4) feera = fear o |

T H YA MY $hiEe (ICRISAT),
Betrae & AT

(1) fafie (CIMMYT), Bfete H i B 2 |

(2) 3Te (ICARDA), Hifen o i g 2 |

(3) ¥ (IRRI), frchiorsa & fi gar 2 |

(4) THER (AVRDC), e # i

Bara |
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40.

41.

42.

43.

Which one of these 1s a correct
sequence in the decreasing order of
inbreeding depression ?

(1) Alfalfa — Pearl millet — Onion —
Mung bean

(2) Pearl millet — Alfalfa — Onion —
Mung bean

(3) Alfalfa — Onion — Pearl millet —
Mung bean

(4) Pearl millet — Onion — Alfalfa —

Mung bean

Which one of these is related to male

sterility in pearl millet ?
(1) Cina cytoplasm

(2) Milo cytoplasm

(3) Tifton cytoplasm
(4) Tms cytoplasm

The law of homologous series of
variation was postulated by

(1) Stadler
(2) Gustaffson
(3) Shull

(4) Vavilou

Besides ICRISAT  (Hyderabad),

chickpea breeding research is also
conducted at

(1) CIMMYT, Mexico
(2) ICARDA, Syria
(3) IRRI, Philippines
(4) AVRDC, Taiwan

02 (Botany)



44.

45.

46.

47.

48.

F2 &l §, 37 : 27 I A&yl 9T

YTH BIaT & St Jeerdt A

(1) < foeret & famedt =R
FAe |

(2) = foreaet & fawedt s=n=afma
HAE |

(3) = foeyeti % famwedt IRI==Hw
HAE |

(4) dfe faere & fopedt S=I=rR
FA @ |

HUTH % e TSl % FOR % w9 A

gt Tt qdier feifer 1 gemd

(1) & (Hays) = fezm o |

(2) % (Frey) = fezmen |

(3) f=HE (Richmond) 3 feam & |

(4) BfTeT (Harrington) 3 feam & |

frefafiaa o @ forad, awfe & Sae =@

AGUIEd] T 9Td 8 2

(1) 3RS el T

(2) 3SR AR T

(3) wALUE TS T

(4) AU SFISE T

ﬁﬁmaﬁmwam

(1) stamm w@ . el % o=
Tl 2 |

) SAEmE . SRR AT |

(3) .ol ud &t Fefey % =
TR 2 |

(4) AT o HRATer 6 e T R |

= ¥ I FHA SRS Tehai IS

HI U HA R ?

(1) s

(2) @R

(3) Bt

(4) gt
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44.

45.

46.

47.

48.

In F2 generation, phenotypic ratio of

37 : 27 is obtained when in epistasis
(1) alleles of 2 loci interact
(2) alleles of 3 loci interact
(3) alleles of 4 loci interact

(4) alleles of 5 loci interact

As a modification of Pedigree method,
“bulked progeny test method” was
suggested in cotton by

(1) Hays

(2) Frey

(3) Richmond

(4) Harrington

In which of the following only extreme
phenotypes remain in population ?

(1) Genetic assortative mating

(2) Genetic dis-assortative mating
(3) Phenotypic assortative mating

(4) Phenotypic dis-assortative mating

Brassica Juncea is probably a cross
between

(1) B nigra and B aleracea

(2) B nigra and B campestris

(3) B aleracea and B campestris

(4) B nigra and B carinata

Which one of these crops is a potential
source of diosgenin alkaloid ?

(1) Cumin

(2) Clusterbean

(3) Fenugreek

(4) Coriander




49.

50.

a1,

52.

53.

54.

T § B T w@ied ¥ Iafed
BATR ?

(1) TR (2) 3@ y§i|
(3) FH (4) gg=w

I % T T & yEIlvE SIS W0
FeaTeH A o forg, wrefer glf

(1) 200 et @t | (2) 400 Hiet g |
3) 800 Hiex @t | (4) 1000 e B |

rhed! <At IMET ShiAH FEAT
(1) x=108-I2 1 (2) x=208A2 |
(G) x=158d2 | (4) x=138AL|

frrfifaa whirarstt # frees gra foss i
eI YT UTEd SIS o JEEY g ?
(1) EFF@@@I'H (Transgenesis)

2) Rrgaafi (Cisgenesis)

(3) SR (Intragenesis)

4) qHSAfEE (Pangenesis)

=i Q B, wiias i fafawd @
YIS I B 2

(1) Torefta fermm

) forg scafErA

(3) uiEd-siict st i @ik

) Tudefierton / fafteiefient

R wiereh! & AN, TH ST
0 %A gt § uerdd ardreeiE
Tarfereran wefdfa s

(1) 219 (Type)— | fRm@T £ |

(2) @9 (Type) - 11 FRR@TR |

(3) 2134 (Type) — Il FRRAT 2 |

(4) 2159 (Type) — IV fRran 2 |
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49.

50.

51.

32.

53,

54.

Which one of these is produced by
natural selfing ?

(1) Hybrid (2) Inbred

(3) Clone (4) Pure line

For production of certified seed of a
pearl millet variety the isolation
distance will be

(1) 200 meters (2) 400 meters
(3) 800 meters (4) 1000 meters
The basic chromosome number of
groundnut is

(1) x=10 2) x=20

(3} =15 (4) x=13

In which of the following processes the
developed plant is similar to
conventional plant breeding ?

(1) Transgenesis

(2) Cisgenesis

(3) Intragenesis

(4) Pangenesis

Which one of these is an epigenetic
cause of somaclonal variation ?

(1) Chromosomal abrasion

(2) Point mutations

(3) Transposable elements activation
(4) Methylation / demethylation

According to stability statistics, a
genotype exhibiting small magnitude
of among environmental variance will
have
(1) Type I stability
(2) Type Il stability
(3) Type IlI stability
(4) Type IV stability

02 (Botany)



55.

56.

57.

58.

59.

frar % wsted g A & giasy %
FER Th R SfMyEy w1 AEA
ARV H ITYH BH o [T¢ FHIZ
TOTe (bi) T HH

(1) 1 8HT =R |

(2) 18 feres gar = |

(3) 19 %" EHT=MET |

(4) T ST Y |

it men fogeigor ®, anmsfie x srfaan
I =1 gfaffte
(1) " TeH GBS |
(2) § IEHFUEA S |
(3) k' TCH G BT R |
(4) ‘I GTHERIBATR |

ST TR

(1) Tafra foreti s faerm & oo a2 |

) g an wu et & fomma & fag
sfar E |

(3) G fepii o feren o fore S1famd 2 |

(4) sgpn foreni & foem & fog
srfrard & |

T3 # S1 gafd swor = % 3 'q

9T R :

(1) sfee feeii & faem & fog
FFER R |

(2) Tl ferei 3 forerma 3 foru sfem 2 |

(3) et ferwl o foepra 3 fore arfar 2 |

(4) g 9 30 forei & fermprE & forg
FAFEE 2 |

“Si” § dert oSt w1 Iedred fopa TR 8
(1) wrafires g g

) T grssiifives g

(3) Tg—grssiifiss g

(4) Ggfera Briss gsiifass g
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53,

56.

Al

58.

59.

According to Eberhart & Russel’s
model for stability a stable genotype to
be suitable favourable
environments should have regression
coefficient (bi) value ?

(1) equaltol

(2) greater than 1

(3) less than 1

(4) equal to zero

for

In generation mean analysis, additive x
dominance interaction is represented
by

(1) °i’ component

(2) °J’ component

(3) ‘k’ component

(4) ‘I’ component

Isogenic lines are essential for the
development of

(1) Composite varieties

(2) Pure line varieties
(3) Hybrid varieties

(4) Multiline varieties

In maize, SI progeny selection has
been found most promising for the
development of

(1) Synthetic varieties

(2) Composite varieties

(3) Hybrid varieties

(4) Pure line varieties

In barley hybrid seed production has
been done using

(1) Primary trisomic

(2) Secondary trisomic

(3) Double trisomic

(4) Balanced tertiary trisomic




60.

61.

62.

63.

64.

<7 B R St ST TUTeRT § HEl © ?
(1) 3¥s -2

(2) AfE-10

(3) few-20

@) ASgsa

9 U Ui wEe Rt 3 A
AERS SR aredfas FAfauwieEn @
s Foret o1 Ry s SR@ BT @ -

(1) 3TeUshTeA Fy Tt
(2) Fi &t

(3) F Het St 31T 36H SEa I8 99
U T

4) F, Gt 3 370 3o Sieh ShHT o1

MY ST % THTOThdT o &7 &1 Tl
(1) & e |

(2) Frengie |

(3) EHEE@IR |

4) geu fien g@ig |

Tk IR =5 T el BT SUTTEAT
(1) Gigl @) G® I

(3) M2 (4) S|

Freft < fomen 9§ T, wreaorsied STgard
(1) 13:38m1 () 9:7=m|
(3) 15:18mM 1 (4) 9:3:4%M |
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60.

61.

62.

63.

64.

Which one of these is associated with
seed nutritional quality ?

(1) Opaque —2
(2) Norin—10
(3) Tift—20

(4) Dee-gee-woo-gen

When genetic cause of heterosis is true
overdominance in a self-pollinated

crop, then it is appropriate to develop
(1) Short-term Fy hybrid

(2) Fihybrd

(3) Pure lines as good as or better than
Fi hybrid

lines for

*)

Improved parental
development of F; hybrid

Color of tag for foundation seed
certification is

(1) Golden brown
(2) Blue
(3) White
(4) Golden Yellow

The shortest phase in a cell cycle is
(1) Gi 2) G2
(3) M (CON

In case of inhibitory gene action, the I
phenotypic ratio will be
(1) 1343 2 9:7
(3) 15:1 4) 9:3:4
02 (Botany)



65.

66.

67.

68.

69.

70.

Ffefaa 4 @ w9 smemeh ifem 2 2
(1) sfer=u

(2) 3TEHI B

(3) wETHT et

(4) e femmi

90 Y B Yo e i gafa 2 7
(1) &5 &=
(2) SATER &

(3) Siepd ot
(4) wmTfvTE i

Tl HehIOT o SR, i | AT TR
Al & Sttt seh & 99.8 Fferera il <1
wfaffrea gar g
(1) BC,
3) BC,

2) BG,
# BC,,

ool e ey waifad &= % fog
39 it Y fop

(1) 3.E.-20522 |

(2) HATE.-25082 |

(3) JINE1.-2624% |

(4) INE.-2794% |

o =1 Bt

(1) Hsienrd sheamar g |
(2) Sy FEam 2 |
(3) T HEAMIE |

(4) THH FHEAS |

T Y S IEeh T o geft wreet
HIHEHAAS ?

(1) &5

(2) ITa:NSG hH

(3) Het fopet

(4) g wufia fee
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66.

67.

68.

69.

70.

Which of the following is non-ionizing
radiation ?

(1) Beta particles

(2) Alpha particles

(3) UV rays

(4) Gamma rays

Which one of these is a progeny of
breeder seed ?

(1) Nucleus seed
(2) Foundation seed
(3) Registered seed
(4) Certified seed

During back crossing, which back cross
generation represents 99.8 percent
genes of recurrent parent ?

(1) BCy (2) BGCs

(3) BCo (4) BCio

For salinity and alkalinity affected
areas, the suitable barley variety is

(1) RD 2052

(2) RD 2508

(3) RD 2624

(4) RD 2794

The fruit of coriander is called as
(1) Schizocarp

(2) Caryopsis

(3) Nut

(4) Achene

Which one of the following exploits all
components of genetic variance ?

(1) Pure lines

(2) Inbreeds

(3) Hybrid varieties

(4) Open pollinated varieties




1.

72.

73.

74.

we ffira ureg S 7 Ffe S A
Seqfada 2 10-8 2 aer S B 10762
o U sae, foed gl 54 A 991 B
Ifatda 2, & Tehe BiH <hl STTRAT

(1) 1x1088nft 1 (2) 2x 10820 |
G3) 1x10-142nfi | (4) 1x 107280 |

$r aeF F T § wwm wERd
(klenducity)

(1) 7 e B FEia 2 |
(2) T EfEoEr & FEla 2 |
(3) Ui @ FEfa R |
(4) U wfEaT ¥ HEta @ |

e Tnfy & Rl F Ao 8l F
He T A ST B ATl ST e ST
v et % ATEH 1 HESR Ta T
S T <1 A ST S 2l 8
(1) FTsiel T

(2) ST SE

(3) Anmefier x AR Sl

(4) Frefict x TieRT ST

i ¥ feall 4 S Tl HT TER
ST B & 7

(1) wrEorar Aferdr & T oA

(2) T Tfer o fore s

(3) Sust H 3Afd o fIe S5

(4) e gfaee & e 5=
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71.

72.

73.

74.

In a diploid plant species, if mutation
rate of gene A is 107 and the of gene B
is 107, then an individual with
mutations in both gene A and B may

appear at a frequency of
(1) 1x10°* ) 2x10°
(3) 1x107" 4) 1x107

With reference to insect vectors, the

term klenducity is related to
(1) disease escape

(2) disease tolerance

(3) disease resistance

(4) disease susceptibility

While considering contribution of
different
variation arising from crosses between

components of  genetic

random pairs of plants in a population,
the inbreeding coefficient ‘F* will have
squared value for

(1) additive variance
(2) dominance variance
(3) additive x additive variance

(4) additive x dominance variance

Which one of the following involves

interaction of two genetic systems ?
(1) Breeding for salinity resistance
(2) Breeding for drought resistance
(3) Breeding for yield improvement

(4) Breeding for biotic stress
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75. Uk Gl F, FoAl i 7Td 3u 250 g/die

76.

77.

78.

B T Semiae 60 Sfava & | 9fe wid 5
i F, Fedl 1 3ited 399 370 g/dten
2 1 a0 frdess @1 oW

(1) 120 g/dter gnm |
(2) 72 g/dtEm g |
(3) 18.5 g/dtem &I |
(4) 222 g/ateTERT |

T A A fAm weies % i oy
qhh Tel & 7

(1) ZFNs

(2) TALENSs

(3) T-DNA 3r==ig
(4) CRISPR — Cas 9

3o foareA # F| EeRt i Ichidar
SATRTIh ST gry gf¥ia ardt 2

(1) Iied gt 3

(2) Felafeeatem

(3) T HHL 3N

(4) W FHL 3T

¥ 2014 &, PPV & FR 3fufem &
ded ferehan drey forei & Usitenr &
foTu el < ge = 1 g foem goft |
off 2

(1) % fewi 3 foru watferes of |

(2) veifera fepent & fore wariferss of |

(3) F fopeal & foru waife off |

(4) Sga: == foret o foru waifees ot |
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9.

76.

77.

78.

The mean yield of 100 F3 families is
250 g/plant with heritability of 60%. If
the mean yield of top 5% F3 families is
370 g/plant, then the
differential will be equal to
(1) 120 g/plant

(2) 72 g/plant

(3) 18.5 g/plant

(4) 222 g/plant

selection

Which one of these is not latest genome
editing technique ?

(1) ZFNs

(2) TALENs

(3) T-DNA Insertion

(4) CRISPR -Cas9

The practical usefulness of superiority
of Fi hybrid in yield performance is
reflected in

(1) Average heterosis

(2) Heterobeltiosis

(3) Relative heterosis

(4) Standard heterosis

By the year 2014, maximum number of
applications received for registration of
plant varieties under PPV & FR Act
was in the category of

(1) New varieties
(2) Extant varieties
(3) Farmer’s varieties

(4) Essentially derived varieties



9.

80.

81.

82.

83.

84.

drwu. i efomad fagusa Hi C
ST 4 & g i T gl

(1) 34ABdR1 (2) 26 AR |
(3) 33ATMRE | (4) 3TATHR

a9 2016-17 F ST TSEA H IS0 hl
Tl o1 AT A6

(1) 30TT@R. 91| (2) 40TT@R. o |
(3) SOWTER. &A1 (4) GOTTER. |

T B A HuTE <l oEfl fReT 8 2
(1) 35w - 1947

(2) THi-314

(3) BT AT

(4) S -8

TSTEAT hY UEel) ihe s aTe] el bl
e

(1) FCE.-1012

(2) ALEH.-19% |

(3) I3 402 |

(4) TREERE |

e 3 o7  geRER 31w

(1) 382 | (2) 48R |
(3) SEIR | (4) 6EIR |

z7i & i ol o e AW A
ff SETSAATR ?
(1) IT8.3T. 50
(3) 3.3 20

(2) 3TE.3TW. 8
(4) 3TE.31. 36
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79.

80.

81.

82.

83.

84.

In right handed double helical ‘C” form
of DNA the perpendicular distance
between two base pairs is

(1) 34A (2) 26A

(3) 33A 4) 3.7A

During the year 2016-17 the area under
pearl millet cultivation in Rajasthan
was approximately
(1) 30 lac ha.
(3) 50 lac ha.

(2) 40 lac ha.
(4) 60 lac ha.

Which one of these is a desi cotton
variety ?

(1) JKCH -1947

(2) Rasi—314

(3) Bikaneri Narma

4) RG-8

The first white seeded cow-pea variety
of Rajasthan is

(1) RC-101
(2) RC-19
(3) RMO-40
(4) Maru Bahar

The number of stamens in coriander

flower is
(1) 3 (2) 4
(3) 5 @) 6

Which one of these is also known as
miracle rice variety ?

(1) IR50 (2) IR8

(3) IR20 (4) TR 36
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85.

86.

87.

88.

89.

TS T TTATHh I g
(1) 27| (2) wEEhfET? |
(3) clel smiteg 1(4) WA ® |

TRISH 7F 0.25 BId §T WA 3Taw
Hgadd1 d, AB/ab F, % @iHg=aar 8 o
2 9Tt AABB F, =38

(1) 6.259fawa Bt 2 |
(2) 14.06 fcra Bt 2 |
(3) 24.01 Sfos@ & 2 |
(4) 48.25 fawa BT 2 |

I % " Sfewey fewe” @ qul
orem svm wgier s
(1) 1.69<f . w128 |
) 1795 H18 |
(3) 1.89Sf.&t. =12 |
(4) 1.99%f.t. %18 |

T ferweisor gRT SAsEdl & 9

7 orgate fafgar @ oww@ A

X quTY e W

(1) @ frereid € |

(2) < Haiftres R eid 2 |

(3) T = o= aur v Faifaes fowr
 WdE |

@) sEHI TR

Tepelt fepfora urew St 4, 1 x 104 %
IaafiEd gL adT 0.99 T & 1Y, W
Thel JUHTE SiH Iafiads ITH 9 5
(1) 2326080f 1 (2) 46520 @nt |
(3) 69780% Mt 1 (4) 93040 Bt |
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85.

86.

87.

88.

89.

The primary centre of origin of potato
crop is

(1) China (2) Abyssinia
(3) South America (4) India

with
the

percentage of AABB F, individuals

obtained from selfing AB/ab F, is equal

to

(1) 6235

(3) 24.01

In coupling phase linkage

recombination value of 0.25

(2) 14.06
(4) 4825

The draft whole genome sequence of
reference pearl millet genotype “Tift”
is approximately

(1) 1.69 Gb

(2) 1.79Gb

(3) 1.89Gb

(4) 1.99Gb

In genetic divergence between a set of
genotypes determined by meteroglyph
analyses the X and Y axis represent

)
2)
(3)

Two least variable characters
Two most variable characters
One most variable and another

least variable character

4)

Any two variable characters

For recovering single recessive gene
mutation in a crop species (diploid)
with mutation rate of 1 x 10~ and
probability of 0.99, the number of M,
families to be examined would be

(1) 23260 (2) 46520

(3) 69780 (4) 93040



90.

g1.

92.

93.

94.

95.

Ffien # g mRNA S
1w shifsrent gfafef e

(1) HAFSH B2 |

(2) s AHIIEAIR |

(3) THERE 2 |

(4) <H @ B 2 |

37 & RFg &R 30 & TEA-SelTHl 3hH
FEd 2 ?

(1) 5'—AACAACU -3

(2) 5'—- AGGAGGU -3’

3) 5'-UGGAGGU -3’

(4) 5'-CGGCGGU -3’

<. B § t-RNA S4 6t 5
(1) 2288 | (2) 6282 |
(3) 3008-IR1 (4 350TIE |

T ¥ fepmen! 3TisR (Ochre) THTIH
HISH HEd & ?
(1) UAG
(3) UAA

(2) UGG
4) UGA

T @ ST 6 fea fegrea weu d
T -HTEhE T 9 I BT & ?

(1) AYEY (2) BYEq
(3) PuEd (4) Cy&d

o o Bt § @ fres ar <FEe
yfenfar & wishan Gefta g 2

(1) ST 7Hd

(2) feforaes o

(3) 3mfoTdeh T

(4) It rfveAfs
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90.

91.

92.

93.

94.

95,

In eukaryotes, the number of copies of
supervalent mRNA molecules per cell
are
ey
2
3)
)

one to few
several hundreds
ten thousand

one million

Which one of these base sequences is
known as Shine — Delgarno sequence ?
(1) 5'—AACAACU -3’
(2) 5'-AGGAGGU -3’
(3) 5'-UGGAGGU -3’
4) 5'-CGGCGGU -3

The number of t-RNA genes in E.coli is
(1) 22 (2) 62
(3) 300 (4) 350

Which one of these is known as ‘Ochre’
stop codon ?
(1) UAG
(3) UAA

(2) UGG
(4) UGA

In which one of these forms of double
helical DNA the Phosphate — Sugar
backbone forms central core ?

(1) A form (2) B form

(3) P form (4) C form

To which one of these selection sieves,
the
associated ?

(1) DNA repair

(2) Diplontic selection

process of “Certation” is

(3) Haplontic selection
(4) Mutant expression
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96.

97.

98.

99.

100.

Frafafaa @ 9 =9 ywasa =1 e
T2

(1) TEa@iEdd

(2) el

(3) RIS B

(4) <= wqmar

3. SIS § 9 oieh U0 (lac operon)
% T mRNA 3{V] [ J1d1e 2l § a9
UEHESEEAREUI

(1) 1:1:18@?|

(2 1:2:18@? |

(3) 1:05:028arg |

(4) 2:5:02FaTg |

e A& feeere o1 vieg fmior
(1) st 3 fepamar |

(2) weR e e F femam o |

(3) T T |

(4) 3= J fepam o |

Toges gerfia =xor & fore aEmers @en
I TUTTCH LIV & o< TTE=rd &1 STINT
gagaH

(1) &1 g fepam TR o |

(2) G gra fopar mam |

(3) warHiaTe g fepam T o |

(4) Torea gry Teharm TR & |

HIATHS &N I THII i aTel H&H

ST T

(1) SEICH & g Ul 8l ol S
Tehdl g |

(2) Tafd — Sk THSIAT gRI 9dT Jal
ST ST Eehall 2 |

(3) ToHTTaT ST gI qaT Aal ST ST
TFHar g |

(4) TEMET S gRI Ual Tal T S
gFar g |
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100.

Which one of the following is not a case
of epigenetics ?

(1) Paramutation

(2) Methylation

(3) Genetic imprinting

(4) Gene conversion

In E-coli when single lac mRNA
molecule of lac operon is translated, the
ratio of B-galactocidase, permease and
trans acetylase is

Ly 1:1:1

(2) 1:2:1

3) 1:05:02

4 2:5:0.2

The term “Quantitative Trait Loci” was
coined by

(1) Gelderman

(2) Mather and Jinks

(3) Wright

(4) Arunachalam

The of
characters with quantitative characters

association qualitative

for marker assisted selection was first
used by

(1) Law (2) Sax

(3) Swaminathan (4) Jinks

Major genes affecting quantitative
traits can not be detected by

(1) Multi model distribution

(2) Offspring — parent resemblance
(3) Heterogeneity of variance

(4) Normal distribution
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